CTOUKA ONnA XPAHEHUA OUCKOB

DFC
ApPTUKyn:
RA012W (uBeT 6enbin)
RA012B (uBeT YepHbIN)

o

(§50§

Kon-Bo gepxarteneun: 3
OnunHa gepxatenen: 50 mm

PYKOBOOCTBO NOJIb3OBATENA




bont M10*70

Wanba <10

©

15 wr.

bont M10*67

3arnywka

g

4 WT.

[[ae4YHbIN K1Y

Sy

2 WT.

bont M10*25

3 wrT.

[[anka M10
@

NN

6 WrT.




1120MM

./

.__
545Mmm \W

MakcumanbHO gonyctumas
Harpyska - 350 Kkr




.

Bont M10*67 -4 wT. 3arnywka - 4 wWr.

© 9

Lanba M10 - 8 wt. Tanka M10 - 4 wr.

3arnywka

3arnywka




BonT M10*25 - 3 wrT. %
@ o : e

LWan6a M10 - 7 wrT.

lanka M10 - 2 wr.




	Инструкция RA012 (100795) на русском_Страница_1
	Инструкция RA012 (100795) на русском_Страница_2
	Инструкция RA012 (100795) на русском_Страница_3
	Инструкция RA012 (100795) на русском_Страница_4
	Инструкция RA012 (100795) на русском_Страница_5

